
Simplify

3௫ × 3 =
3௫ × 3ଵ = 3௫ାଵ

Add Exponents (5ଶ)௫ = 5ଶ௫ Multiply Exponents

6௫

6
⎯⎯⎯=

6௫

6ଵ
⎯⎯⎯= 6௫ିଵ

3

3௫
⎯⎯⎯=

3ଵ

3௫
⎯⎯⎯= 3ଵି௫

Subtract Exponents

      
2଻௫ାହ × 8௫ାଵ

4௫ିଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ =

2଻௫ାହ × (2ଷ)௫ାଵ

(2ଶ)௫ିଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

   
2଻௫ାହ × 2ଷ௫ାଷ 

2ଶ௫ିସ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

                  
2ଵ଴௫ା଼

 2ଶ௫ିସ
⎯⎯⎯⎯⎯⎯= 2଼௫ାଵଶ 

      
2଻௫ାହ × 8௫ାଵ

4௫ିଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ =

   
2଻௫ାହ × 2ଷ௫ାଷ 

2ଶ௫ିସ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

       8(௫ାଵ)=

(2ଷ)(௫ାଵ) = 2ଷ௫ାଷ

       4௫ିଶ=
(2ଶ)௫ିଶ = 2ଶ୶ିସSubtracting 

Negative 
Exponents!

Change Base
Multiply Exponents
Add Exponents
Subtract Exponents

6௫ାଵ = 6௫(6ଵ) = 6(6௫)

5ଶ௫ = (5௫)ଶ = (5ଶ)௫

7௫ିଵ = 7௫ × 7ିଵ =
7௫

7ଵ
⎯⎯⎯

Separate into a multiplication/division/or use brackets with the same base. (𝐼𝑠𝑜𝑙𝑎𝑡𝑒 #௫)

4ଵି௫ = 4ଵ(4ି௫)

          =
4

4௫
⎯⎯⎯

3ଶ௫ାଵ = 3ଶ௫3ଵ

            = (3௫)ଶ3ଵ

            = 3(3௫)ଶ

6௫ = (2 × 3)௫

         =2௫ × 3௫
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